I49TI9YI5YF2 UN-TEIA T mam

(EroN’

DOWN HOLD QUICK CLAMPS No.E-9351
SCM440
A BEA HRC30 + 3 ¥5— A HRC50 + 3
REWE ) 225
YEUFFTE. No.E-9402T ZOvkFwh (RIFS) Z#IFHIE
<7—L_.'L_,
) <
>
P2
7
a
]
I\
TSwh F B TS
s R e * (IR
#—5"—No. No. IAF A B C D E F G H | J
* 125662 | QDLTO08-FJ | 7>whk 39 17 7 18 9° 1.2 29 27 22 15.5
* 125663 | QDLT12-FJ | 735wk 49 27 12 26 10° 2.5 47 35 32 21
% 125664 | QDLT08-KJ |+ BHIE 39 17 7 18 9° 0.9 29 27 23.5 15.5
% 125665 | QDLT12-KJ | +=XBA1E 49 27 12 26 10° 2.0 47 35 34.5 21
% 125666 | QDLT08-GJ | Z'Uw= 39 17 7 18 9° 1.1 29 27 22 15.5
% 125667 | QDLT12-GJ | ZUw> 49 27 12 26 10° 2.4 47 35 32 21
No. K L M N OWEE) | BARMEN N |BAMHIH KNC1) | BEkg {5
QDLTO08-FJ 37.5 61 45° 5 M 8XP1.25 120 1.3 0.1 15,900
QDLT12-FJ 53 120 45° 6 M12XP1.75 320 4.4 0.4 17,600
QDLTO08-KJ 39 61 45° 5 M 8XP1.25 120 1.3 0.1 15,900
QDLT12-KJ 56 120 45° 6 M12XP1.75 320 4.4 0.4 17,600
QDLT08-GJ 38 61 45° 5 M 8XP1.25 120 1.3 0.1 15,900
QDLT12-GJ 53 120 45° 6 M12XP1.75 320 4.4 0.4 17,600
¥ 1. EHDOKIICTEICHUEA TEAUCEEDERAMNHERIFT,
. . - SINCE 1560
640 CADF—95 90—k - EERAE Web B bT! [ 7T \ uj\ NABEYA co., L.

FriendsNo.219/2021.112ERE



TAYITIIISIT? UIFTEIAS

No.E-9351N

| DOWN HOLD QUICK CLAMPS

SCM440
ZE D BEA HRC30 + 3 ¥'3— @ A HRC50 + 3
2t

MEUMTIFICIF. No.E-9402T XOwbhFwh (BIFE) Z#IHIA

<fEEL,

I Tol e
N ISvh F XL TUvT
L | [a)
N
L L s Qi1 Ea * IS

Z+—5"—No. No. PEL R A B C D E F G H | J
% 125668 | QDHT08-F) | J5wh | 39 17 7 18 9 1.2 22 27 22 155
% 125669 | QDHT12-F) | J5wh | 49 27 12 26 10° = 25 34 35 32 21
% 125670 | QDHTO8KJ | +XR®slk | 39 17 7 18 9 09 22 27 235 155
% 125671 | QDHT12-KJ | FRBAIE | 49 27 12 26 100 2 34 35 345 21
% 125672 | QDHT08-GJ | ZJUv> | 39 17 7 18 9 1 22 27 22 155
% 125673 | QDHT12-GJ | ZUw> | 49 27 12 26 100 24 34 35 32 21

No. K L M N@EEE) | BABENLY N-m | SAHEH KNGe1) | BEke i
QDHTO8-FJ | 375 17 5 M 8XP1.25 15 4 0.1 10,500
QDHT12-F) | 53 24 6 M12XP1.75 40 6 0.4 12,200
QDHTO08-KJ | 39 17 5 M 8xP1.25 15 4 0.1 10,500
QDHT12-KJ | 555 24 6 M12%P1.75 40 6 0.4 12,200
QDHT08-GJ | 38 17 5 M 8XP1.25 15 4 0.1 10,500
QDHT12-GJ | 53 24 6 M12XP1.75 40 6 0.4 12,200

¥ EROKSICTEICHUEATEAUCIBEDRAMN NERIET .

SINCE 1560

NABEYA co., L.

FriendsNo.219/2021.112ERE

CADF—95'9y0—K - EERAE Web Y bT! [ 7RV

T THYNUIN

641



T THYNUIN

642

29U1—04AvIIIY

DOWN HOLD SCREW QUICK CLAMPS

JUvF

No.E-9776

S22

(# & ) SCM440
(B ) A4 : 5N HRC30 + 3 ¥'3— : A HRC50 + 3

FRBH1E

' o

ERon

< T O — - — |- -
= L/@
I ‘ J K TSwk FRBAIE JUvF
L
E._ o
R ==t
I o ©
F
Witk fis=R * RIS
Z—5"—No. No. PEPL A A B C D E F G H | J K L
* 125674 | SCO8-FJ Tovhk 50 16 6 10 19° 2 27 40 15 205 1 115 47
* 125675 | SC12-FJ T7ovk 62 @ 225 8 155+ 12° 3 35 50 18 26.5 : 145 ¢ 59
* 125676 | SC08-KJ FRBH1E 50 16 6 10 19° 1.5 27 40 16.5: 205 : 115 : 485
% 125677 | SC12-KJ | FXPFhlE 62 225 8 155 12° 2 35 50 : 205: 265 : 155 : 625
* 125678 | SC08-GJ gy 50 16 6 10 19° 2 27 40 15 205 115 475
* 125679 | SC12-GJ AN 62 225 8 155+ 12° 2.5 35 50 18 26.5 : 145 i 59
No. M@EEE) N o ESEUSRIVS (BIFE) | BRARIENLD Nom | SA# KN Eekg A&
SCO08-FJ |[M6XP1 5.5(M5F/) 5 M5X12 10 7.5 0.1 14,600
SC12-FJ |M8XP1.25 6.5(M6F) 6 M6X16 20 12 0.2 15,500
SC08-KJ |M6XP1 5.5(M5) 5 M5X12 10 7.5 0.1 14,900
SC12-KJ [M8%P1.25 6.5(M6F) 6 M6X 16 20 12 0.2 15,900
SC08-GJ |M6XP1 5.5(M5F/) 5 M5X 12 10 7.5 0.1 14,900
SC12-GJ |M8XP1.25 6.5(M6F) 6 M6éX 16 20 12 0.2 15,900
. . - SINCE 1560
CADF—95 90—k - EERAE Web B bT! [ 7T \ ﬁj\ NABEYA co., L.

FriendsNo.219/2021.112ERE



AO1=T4v79995YF2 TvYa1ATV1— ERoN’

DOWN HOLD SCREW QUICK CLAMPS 2 No.E-9776

NeO—0)
D MIN\SEREImE

N— D, Imai

TUXTH
NNIERTESN n

L e RNl e * BT
Z4—5"—No. No. IAF A&
* 132066 SC08-PS 0847 3,560
* 132067 SC12-PS 12278 3,820

T THYNUIN

AV ANV

C—=

C—Soo 1%

NAZSVNA

- Rt

ey

ImHME

NABEYA co.im.  CADF—95'9Y0—FK - EER&(: Web ¥4 hT! [ 7P \ 643






